05596-10_B mriRtHAVEE R , 18X , B & , AIBE

7= miiEA

M
PC/ABS,

I
26, ABREXREFE,
B, g AeRBEXREIEE,

B

XEHESRITTERARNEF |, THRA, FEIMNPEH,
BRHEMBTAENRYT , EATFEANITREE. B T8EMNEE> R
ReReH,

AT EWILF AP LIRS,

aRME (BRI ) - S UL94-HB Fir5l,
IZRITENRAHE - 2 Nm,

fEFHER :
NEHIEFE | FPAETITANCE , BIWITHI ). XENE283RAM
E. tBAIMNEEBREDH.

NA :

- RET

- BT EAR

- MLl

- FRfR AR
- IR zE

- RETW

RE -

1. REEAFERETO,
2. EEREXHR,

3. FAREDHNENEE.

#HEE
LTHEER | UREENRE (M5) MEEXRERETEN.
LZHEZENIBR (M5) REBEEHKTER.

REER

1) 14K

2) ER

3)IEF

4) BREZHR

5) ZERRBE (BESNKHT)
6) R¥&=410

© norelem www.norelem.com



05596-10_B TR ERHES , 18X , BE , AIHE

_ op
A
S CN
PN N
L =
= ! X
TU S
I

D1 +1,2

05596-10-2002356000 B TAgiE |26 | BB 28|60 40 | 52 | 50| 50 | 55 35,5 35 | 4

05596-10-2007356000 B TAgiE | 2@ | ®BE 28|60 40 | 52 | 50| 50 | 55 35,5 35 | 4

05596-10-2012356000 B ~AgiE B | BB 28|60 40 | 52 | 50| 50 | 55 35,5 35 | 4

05596-10-2017356000 B FAgiE | B | BB |28(60| 40 | 52 |50 | 50 | 55 35,5 35 | 4

05596-10-2002356022 B AAHiE BHE& | B8 | 28|60 40 | 52 | 50| 50 | 55 35,5 3% | 4

05596-10-2007356022 B TAgiE B | BB | 28|60 40 | 52 | 50| 50 | 55 35,5 35 | 4

05596-10-2012356022 B TAgiE H& | H& | 28|60 40 | 52 | 50| 50 | 55 35,5 35 | 4

05596-10-2017356022 B AAHE HE& | BB |28 |60 40 | 52 | 50| 50 | 55 35,5 35 | 4

05596-10-2002356033 B FAIBE | K& | K& |28|60| 40 | 52 |50 | 50 | 55 35,5 35 | 4

05596-10-2007356033 B AHBE | K& | K& |28 |60 40 | 52 | 50| 50 | 55 35,5 35 | 4

05596-10-2012356033 B TAE |KE&|X& | 28|60 40 | 52 | 50| 50 | 55 35,5 35 | 4

05596-10-2017356033 B FAIPE | K& | K& |28[60| 40 | 52 |50 | 50 | 55 35,5 35 | 4

05596-10-2002356001 B TAPiE | B | 4% 28|60 | 40 | 52 | 50| 50 | 55 35,5 35 | 4

05596-10-2007356001 B TAgiE | B | #E | 28|60 40 | 52 | 50| 50 | 55 35,5 35 | 4

05596-10-2012356001 B TAPiE |2 | %% 28|60 40 | 52 | 50| 50 | 55 35,5 35 | 4

05596-10-2017356001 B TRISE |B6 |4 [(28]60] 40 | 52 | 50| 50 | 55 35,5 35 | 4

05596-10-2002356000 B |®& |22/26,2 23|39,2|14|42,9/3,8/12,7|7,2 270 50 -30 bis 60 2-7 M5X16
=]

05596-10-2007356000 B |®& |22/26,2 23|39,2|14|42,9/3,8/12,7|7,2 270 50 -30 bis 60 7-12 M5X20
1=

05596-10-2012356000 B |® [22/26,2 23(39,2(3,8/42,9(3,8/12,7|7,2 270 50 -30 bis 60 12-17 M5X16
&

05596-10-2017356000 B | & [22/26,2 23(39,2(3,8/42,9(3,8/12,7|7,2 270 50 -30 bis 60 17-22 M5X20
&

05596-10-2002356022 B |8 [22(26,2 23|39,2|14|42,9|3,8/12,7|7,2 270 50 -30 bis 60 2-7 M5X16
&

05596-10-2007356022 B |H [22|26,2 23[39,2|14(42,9|3,8/12,7|7,2 270 50 -30 bis 60 7-12 M5X20
&

05596-10-2012356022 B |8 |22|26,2 23|39,2(3,8/42,9|3,8/12,7|7,2 270 50 -30 bis 60 12-17 M5X16
1=

05596-10-2017356022 B |8 |22|26,2 23|39,2(3,8/42,9|3,8(12,7|7,2 270 50 -30 bis 60 17-22 M5X20
1=

© norelem www.norelem.com



05596-10_B HiR4ARV BRI ZHES! , 1EX , BE , AIHE

H5 H6 H7 BEEE |S=IREE ,
B R mm
E -30 bis 60

05596-10-2007356033 B ﬂé 22|26,2 23/39,2|14(42,93,8/12,7|7,2 270 50 | -30 bis 60 7-12 M5X20
05596-10-2012356033 B ﬂé 22[26,2 23[39,2(3,8/42,9(3,8[12,7]7,2 270 50 | -30 bis 60 12-17 M5X16
05596-10-2017356033 B ﬂé 22[26,2 23[39,2(3,8/429(3,8/12,7|7,2 270 50 | -30 bis 60 17-22 M5X20
05596-10-2002356001 B 2}% 22(26,2 23[39,2]14(429(3,8/12,7|7,2 270 50 | -30 bis 60 2-7 M5X16
05596-10-2007356001 B sé 22(26,2 23[39,2]14(429(3,8/127|7,2 270 50 | -30 bis 60 7-12 M5X20
05596-10-2012356001 B [% |22|26,2 23|39,2(3,8/42,9(3,8/12,7|7,2 270 50 | -30 bis 60 12-17 M5X16
05596-10-2017356001 B %: 22[26,2 23[39,2(3,842,9(3,8[1277.2 270 50 | -30 bis 60 17-22 M5X20

© norelem www.norelem.com



